
ONE STEP EQUATIONS - A ONE STEP EQUATIONS - B

Answer

ONE STEP EQUATIONS - C

x + 20 = 421. 2.  w - 92 = 60

3.  e + 70 = 16 4.  205 = x + 82

5.  102 = h - 67 6.  60 = y - 68

7.  400 = j + 176 8.  x - 189 = 50

9.  d + 79 = 146 10.  k + 100 = 140

x = 42 - 20
x = 22

w = 60 + 92
w = 152

205 - 82 = x
123 = x

e = 16 - 70
e = -54

60 + 68 = y
128 = y

102 + 67 = h
169 = h

x = 50 + 189
x = 239

400 - 176 = j
224 = j

k = 140 - 100
k = 40

d = 146 - 79
d = 67

r = 80 - 78
r = 2

140 + 67 = c
207 = c

138 - 36 = k
102 = k

k = 178 - 51
k = 127

g = 120 + 156
g = 276

b = 180 - 105
b = 75

88 - 48 = y
40 = y

w = 102 + 70
w = 172

220 + 198 = w
418 = w

71 + 40 = f
111 = f

21.  235 + n = 376 22.  -370 + t = 70 23.  600 = 505 + d 24.  501 = 248 + d

25.  g - 60 = 280 26.  500 + s = 637 27.  540 = h + 160 28.  -161 - x = 180

11.  78 + r = 80 12.  140 = -67 + c

13.  51 + k = 178 14.  138 = 36 + k

15.  105 + b = 180 16.  -156 + g = 120

17.  -70 + w = 102 18.  88 = 48 + y

19.  71 = - 40 + f 20.  220 = -198 + w

n = 376 - 235
n = 141

t = 70 + 370
t = 440

600 - 505 = d
95 = d

501 - 248 = d
253 = d

g = 280 + 60
g = 340

s = 637 - 500
s = 137

540 - 160 = h
380 = h

-161 - 180 = x
-341 = x
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